











$$Oscillation frequency$$

$$\frac{P(B^{0} \rightarrow B^{0}) = P(\overline{B^{0}} \rightarrow \overline{B^{0}}) = \frac{1}{4} \left[e^{-\Gamma_{L}t} + e^{-\Gamma_{H}t} + 2e^{-(\Gamma_{L}+\Gamma_{H})t/2} \cos \Delta mt \right]$$

$$P(B^{0} \rightarrow \overline{B^{0}}) = \frac{1}{4} \left| \frac{q}{p} \right|^{2} \left[e^{-\Gamma_{L}t} + e^{-\Gamma_{H}t} - 2e^{-(\Gamma_{L}+\Gamma_{H})t/2} \cos \Delta mt \right]$$

$$P(\overline{B^{0}} \rightarrow B^{0}) = \frac{1}{4} \left| \frac{p}{q} \right|^{2} \left[e^{-\Gamma_{L}t} + e^{-\Gamma_{H}t} - 2e^{-(\Gamma_{L}+\Gamma_{H})t/2} \cos \Delta mt \right]$$

$$CP- \text{ violation in mixing:} \qquad P(B^{0} \rightarrow \overline{B^{0}}) \neq P(\overline{B^{0}} \rightarrow B^{0}) \Rightarrow \left| \frac{q}{p} \right| \neq 1$$





















































